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} Aetem s ¢ (((200,0009 %12
3. A8 FER 1,440 1,920 N ’ -480,000
A : : 21)-2,400,00091)-(40,00091 12 ) )=
4. 98 7,200 7,200 0
7=t A ZAAAM] ¢ (100,000 %1
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IHEE ey 21)-200,0009)=
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3,000,000¢)-3,000,000%] =
CEFA 7| FAAN - ((107,320,0009 %1
PRSEE 53,904| 107,320 -53,416| .0 7! oo -53,416,000
1E7 21) - 107,320,0009)-53,416,6709 =
8. oAl An] 1,377 3,321 -1,944
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1LAA 2 A A 1377] 3,321 1,044 B I AR ¢ ((79,1504145,000 ~1,179,000
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A
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5 Il 7)SAbEAR] BEE (15,876,000
1.3 8- n 16,752 15,876 876 AR 876,000
B A=14) - 15,876,000 )+876,0009] =
2.715AF e 65,049 66,569 -1,520
1. 715 A% 65,049 66,569 -1,520
1. 7] &A1 41,732 43,252 -1,520
A BN 1 (200,0009 * 12€) -
1.94k=8n 10,080 11,600 -1,520| '~ ' -1,520,000
S 2,400,0009-1,520,000 =
2. 47185 19,200 19,200 0
3. 48R 2,040 2,040 0
4. W5$-FH] 10,412 10,412 0
2. 715 A4 A1 7] 23,317 23,317 0
1. 717 A 2 2 A1 714 22,117 22,117 0
2. 7)1 A 2 A AR 1,200 1,200 0
3.5 A% 29,946 27,488 2,458
L[=a)st L« 1w A ehd e 12,683 12,231 452
1.3 AAZ A 1,449 1,728 -279
- AZFAXR 9] 1 ® —
1.8H 2 ) v 1,449 1,728 o7 B AHA ¢ (25,000¢1 4873 +15]) 242,000
1,442,000 =
ENCECIE 29673 %13]) -
o o (1,50091+96%+13]) - 181,000 ~37.000
2. 874489 9,314 9,583 -269
1. g5k 450 450 0
Al 2~ pAe] WS 2
2. 9959 275 350 75| HARAE el WA (350,000 75,000
o) - 425,0009 =
AnL Loln] %28k -
3 w8 oo 6 200 BIIE S 1 (100,000 %23}7]) ~194.000
394,0009) =
4.8t EA 1 2,640 2,640 0
5. 9] 3F 74y 5,943 5,943 0
3. [FalEFddgsta g 1,920 920 1,000
1. 05990 920 920 0
_ ez 32=)E o) urdly EATLE =]
2. 3B u] 1,000 0 1,000 (°%L—3T)‘?L°ﬂ°ﬁl deey 1,000,000
500,000 #23]=
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1.He=53e 800 800 0
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3.1 e 12,583 10,577 2,006
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487143 &) 3,000/ 3,000 0
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4,848 ) 160,893 146,701 14,192
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1,100,000 #14]=
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200,000 #14]=
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(B EA3F)FAA oA 3 200,000
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=
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=
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2. WSEA N 1,400 1,400 0
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3.8 A 7] 9o 140,793| 137,901 2,892
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1,342 ) 2,808 0| 2,808 (BHAITIFTALN FUu 1 54,0009 2,808,000
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2. A WA EY 12,151 12,151 0
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1L.e95% 1,644 720 924 f;; HABFIAARE ¢ 4200081222151 924,000
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1.+95% 9,072 9,072 0
2. W58y 928 928 0
5. W EITT 23,916 23,916 0
1.9 16,716 16,716 0
2.0 5%&qH| 7,200 7,200 0
6.71 23 LB 2,000 2,000 0
1. WS- 2,000 2,000 0
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1,995t} 750 750 0
2. 05| 100 100 0
2.9 Wi 900 900 0
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4.8 wRgE 300 300 0
1. w28 300 300 0
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5.3 3 uids 1,964 2,042 -78
1.9 935 935 0
1. 05290 935 935 0
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F4d 20249 059 202 08A] 478 26% 15 BERAANLENEH SBZ8n




= h =
20238 A &= Al = o AL Al A
A9
71 A 71 A H| 1l
oo ] o ;] )\]_%7] Z:E(%
A | ity | F3
700 700 0
700 700 0
200 200 0
500 500 0
7.% wHEdE 1,509 1,600 -91
1,209 1,300 -91
O o} 7y 7 _9_0:]1:] : <] a8 —
1,209 1,300 -91 SetahE gl (100,000€:2371) -91,000
291,0009 =
300 300 0
300 300 0
8.9 =0 wadF 1,060 1,820 -760
1,060 1,820 -760
WA FALE(AE,AL) ¢ ((36,0009
1,060 1,820 ~760 v ’ ’ -404,000
*10A] 7++238}7]) - 720,0009)-404,0009 =
WM kA u| (o] &, AZ) ¢ ((200,000 017 000
1%28}7]) - 400,0009)-217,0009 = '
WAz Qs du(AE, AR) ¢ (200,000 _
*28}7]) - 400,000€1)-139,000¢] = 139,000
500 800 -300
0 300 -300
27K g3 /\1_): = olp
0 300 300 71744 w3} Az FH (50,000 ~300,000
A=68F) - 300,0004)-300,0009 =
500 500 0
500 500 0
0 100 -100
= 0 100 -100
el L-dH] 2] ) -
188 0 100 _100| 3t FGH]  (10,000€1+10€) -100,000
200,0009) =
2.3 A3 94,827 83,652 11,175
17,311 17,360 -49
2,190 2,190 0
2,190 2,190 0
6,600 6,600 0
6,600 6,600 0
20 08A] 47 26% 16 AHER A & &5t




20238HA = A S of| A A A
ANTFE 3733 (29 = A

3.3 Aty 3] 251 300 -49
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4. 5ol dE 3,000 3,000 0
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2. BRI TF 224 224 0
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1. 05 H| 3,050 3,050 0
2.7 A s 1,400 1,400 0
1. %89 1,400 1,400 0
3.d& AS5dE 600 600 0
1. 05 H| 600 600 0
4. 5ol & 1,488 1,488 0
1.9 888 888 0
2.0 5%&qH| 600 600 0
5. 7182737 ()2 &% 1,302 1,302 0
1. WS- 1,200 1,200 0
2. BAAG 10 102 102 0
4. 987 W&EE 56,159 59,162 -3,003
1.8 %58k &3 23,835 22,900 935
1.3 58 al 8- 23,835 22,900 935
1. 2T 2 I 23,835 22,900 935
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OTT I HOT unw 2366,000%_]:
ARG . 2 -
BEREgE 0 (170,0009x129) ~360.000
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138990 2,132 2,132 0
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2. A SR 6,000 6,000 0
3.7E T 12,294 12,294 0
2.48H) 1,619 1,619 0
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20238 A &= A = o AL Al A

1.dgH 1,619 1,619 0
3. A1 e 8o 9,140 9,140 0
1. Qukggn) 9,140 9,140 0
4. A1 dukeg 31,636 31,160 476
1. 8] 31,636 31,160 476 AZIZA e - (530,00091+23]) - 476,000
5.3174 g 2,511 2,511 0
1. 4Rk=8-] 2,511 2,511 0
6.2 e 4,800 4,800 0
1.9 Rk=8-] 4,800 4,800 0
3.8t m$e) ¥ 2,900 2,900 0
1.3t 91 3] -3 1,850 1,850 0
1.3 023 9 A3 1,850 1,850 0
1.994] 1,250 1,250 0
2. Rk S0 600 600 0
2.3 gy 1,050 1,050 0
1. 559233 400 400 0
1. A9 -7 400 400 0
2. BHE WS 450 450 0
1.9 Rk=8-H] 450 450 0
3. RAI A 200 200 0
1.&959 200 200 0
7.3 AN gF 857,799| 696,061| 161,738
1AEES 9 A 857,799 696,061, 161,738
LAAEZEANA 857,799| 696,061| 161,738
1. 53 N AALY 857,799| 696,061| 161,738
1.A14H] 857,799| 696,061 161,738 ’;Lfi% f‘;ﬁﬁf&ﬁ)iﬁé‘??gfggﬁo? " 116,738,000
WS NG ¢ 45,000,000 12 = 45,000,000

g 20249 059 20 08A] 47% 26% 24 ABERAA WSS FBFsu



